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Amir has 2 pieces of ribbon.

The green piece is 14 cm long.

The blue piece is half the 

length of the green.

What is the total length of the 

pieces of ribbon?

Jack bakes 200 

muffins.

He bakes 126 muffins on Monday.

He bakes the rest of them on 

Tuesday.

How many more muffins does he 

bake on Monday than Tuesday?
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Whitney has some money.

She spends 4
7

of the money on a 
game.
She shares the rest of the money 

equally between 6 friends.

Each friend receives £4

How much did the game cost?

An apple is 1
2

the price of a slice of cake.

Mrs. White buys 2 slices of cake and 3 

apples. 

She pays £6.79 in total.

How much is a slice of cake?


